-
CLASS:X | MATH ACTIVITY No.4_ MEDIAN OF A C.F msngumau
OBTECTIVE : To £ind the median of a glven cumulative Freguen
Y grophical. melhod and vedfy 2ha. anawesc by octund. cale -
- ulotion dhe yedion .
5&5@@ AND OR APPROACH Tp THE ACTIUTTY:
g an cgive (dess Than type s Mo Tho, pe
A %me? dato on A ?a)bﬁ\%g}b tg ) 3o
2) Fostmula «/-FDS‘L eaﬂculqhn%:ﬁ\.t medlan -
3) Synificanee of Ao ymedion .
Procedugre : 1) consides the epmulative Freqpency A ibation
iven . tobke T
84—*2 The values 40, 20,320, .- -,100 are the Upper Limita of dnel
eegpeciue. alasg intesals .
2) Mol the upper Aimita onthe >e-onis and the consespond-
. ):‘, cumulative {ngq}iandeg on the %ﬁq'}(ﬁ&', choosing o conven.
}J_?IA.Q, pcole (which may 0% may mot “be Ahe ame Fosx batin

ores ).
4) Now, plot the pointa conw]:ondt Ho the ovdesiod pausea given
;L% (M_FPE?'L ‘Etmitﬁ, Wnﬂt% c_uﬁulcfciue ‘jfb:e:yxenay?), f?.&.)
(#10,5), (25,8}, (26,42), (40,18), (50,18) , (60,22), (70,29)
(80,38), (90,145, (100, 53) onthegraph papee and oo
Hhom ee Jomd smooth cusve. . Thas cuswe 43 called o
CUMULATIVE FREQUENCY cURVE OR. AN OGIVE (Ojfjﬂ’]e Legs
Than type ). (Fl‘gl)

5 lo N =53 - 265 onthe gﬂxﬂa. From this point, dsawa

becbendizalove Jo™4he ¢-cotis. The. poit of drtensection of this
pestpendtenlare woith Ahe 2¢-0xs 25 Hhe mediom of dthe. ddta
3} Caleulate e medion 4% dotn Minﬁ:ﬁw_ ﬁﬂa)zmulq;ﬁ
Medion = £ + L2 ;Ci IxA [Msing. esdtrnded. Jobée T]
Sinee. fhe o .f. fust Tosedtest Hian 245 s 2.9
*}Wndm% dﬂ&ﬁn@wﬂfqﬁzoﬂw 15 dhe )‘L@?/LU)EECQ ?%icgfa;cfﬁ
= 2=60,4=10,4="7F , cf = 22.. '

Continued. on bage 2..




7 7
=60+ 45 _ 60+ 643 ~ 6643

= 60—}— L-5x4D

tage 2,

.«,} Jhe me&&’.’m mh&%ﬁi dhesre Atudentj, Q520 56-4.3 @ﬁb.no;ﬂ
Reswr: Tt can be geen hat the ymedian of e given dator
obtaivied b% e g}zak%mﬂ. mebhad 13 oppsiord by dhe sam

as the colculated median.  Henee Uesitfied,

i N
Mobs Gtaived. |Mberef | paer [0 RS
L,Q,ss'lthhqn 4D 5 . O —40 5
| ess Ahan 20 8 40 —20 3
Less than 30 12 EXTENDED 2.0 -20 I
J[-esgi:kan L 15 TABLEL | ap-y40 2
2448 Thon 50 12 D ~50 3
Less han 60 29 o ;Eg - 6o Ly
Lot thom. 20 s 040 | 9
Loss Jthﬁ jg_{o)o 4E 80 -390 *
- 3 90 ~100 8
: 3 j'%:"' B Eh ek
gt bot (F!gI) """ SaqLex*am@ fem=10
é& _ - Y-~as~dem=5
g-l 1  m
f o[ & -
; 5 |
o I
o |
101 |
S T f /M""{‘:““ (55'@
& 0 ; ; ; _L N
C(09] 1o 20 30 ko 50 60F° 8o 9o iw

@




